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1. Options shown in green color with a tick icon are correct

Z. Chosen option on top right of the guestion indicates the option selected by the candidate

Q1 is not caused by airborne transmission.

A. Tuberculosis
B. Chickenpox
C. Measles
D. Hepatitis B
Ans J’, o

N 2A

Mo

75 4B

Question ID - 2055233733
Status | Answered
Chosen Cplicn . 2

0.2 Read the statements and answer the question based on il
Statements:

1, Some mammals are extinet and some are critically endangered,
2. All dinosaurs are extinct,

Which option logically follows the given statements?

AL All dinossurs are mammils.

B! There sre no reptiles that sre out of the danger of exuinction.
L. Mo dinosanrs are critical by endangered.

D. Some reptiles are dinosaurs who ars extinct.

Ans B 1

I'_I_'
X 3E
MK 4A

Cluestion 1D : 2055233803
Siatus - Answered
Chosen Cplion @ 3

3, Some reptiles are eritically endangered and some are already extinet,

A RAST

B, ELISA

C. IgE

D. Hemoglobin A1C

Ans x: E

0.3 Allergy Screening Blood Test for human beings does not include

Question 1D 2065233733
Ziatus  Not Attempted
Chosen Optlion ;-
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Q4 is not a tributary of the river Ganges.

A. Yamuna
B. Gomti
C. Kosi
D. Manas
Anz K”g
Xz2c
W 3D
N an

Cestion 1D 2056233712
Siatus : Answered
Chosen Option | 3

A% gg dw@n g fifsv faws 6 3@ 60 d 6 &4 §

A 6
B.7
C.8
D.9
Ans KH.;
Wzo
K aA
Nac

Question 1D : 2055233749
Status - Not Attempted
Chosen Oplion -

GLE  The aren of & rectangle v 248 wym, 1 the length |s more e the trestth by | 2%, find the bresdtl

A llm
W 18w

C Wm
D 20m

Ans (¢ 4
Naie
v
4B

Question 1D : 2065233772
Statuz - Not Attempted
Chosen Cplion - --

Q.7 Mirages are formed primarily dueto  of light.
A. Reflection
B. Diffusion
C. Refraction
D. Scattering
Ans. & 1 B
vzc
Xa3p
p

Cluesfion ID 2056233746
Siatus : Answered
Chosen Option -4




2.2 Resolution : Determination : : Consensus : L Cestion D ; 2055233789

Siaius CAnswered
Chozen Opfion 1

A, Difference
B. Unanimity
C. Decide

D. Outcome

Ans x i ©

Na2o
K aa
iE

Q.9

Comprehension

The following table represents the transport preferences of a certain number of people in three towns V, K and 8. Consider
the information and answer the following questions based on it.

Cvele | Taxi | Rickshaw | Bus | Own car | Train
Town V| 130 [ I53 73 106 125 145
Town K| 115 | 100 100 175 175 110
Town 5 | 150 | 150 125 100 100 133

SubQuestion No: 9

What is the most preferred mode of transport? Question 1D - 2055233807

= Ststus - Answered
Chosen Oplion -3

I
m

Q.
i

Ans

Comprehension:

The following table represents the transport preferences of a certain number of people in three towns V, K and 5. Consider
the information and answer the following questions based on if.

Cyele | Taxi | Rickshaw | Bus | Own car | Train
Town V| 130 | 135 73 100 125 143
Town K| 115 10d0 100 175 175 110

Town S | 130 | 150 125 100 100 155
SubQuestion No: 10

Thee sionhe of pegpls woimmmy Bt Dy trane il S by Sesy pome e e o s o Bess dmiag 5 Sl D teal aisl

1y Cuesfion 1D : 2065233806
: 71:::-“ Etatuz - Mot Attempted

C i meeg

I 2 lpss Chosen Oplion . —

X 1B
" .
p N
X o

i

Comprehension:




The following table represents the transport preferences of a cartain number of people in three towns V, K and S, Consider

the information and answer the following questions based om it.

Cyvele | Taxi | Rickshaw | Bus | Owna car | Train
Town V| 150 | 155 75 100 125 143
Town K| 115 | 100 100 175 175 110
Town 3 | 150 | 150 125 100 100 133

SubGQuestion No @ 11

ﬁ;ﬂ The difference between people who prefer taxi to own car is?

Ciestion [ - 2055233805

AS Ststus - Answered
B. 10 Chosen Cption -4
.15
D. 20
Ans x 1.6
Xz2s
N 3c
J 8 A
1% Salt S ! inT il Nadu was led h}f Queston D 2055233717
A. C. Rajagopalachari i Status  Not Attempted
B. K. Kamaraj hen Opllon—

C. Potti Sriramulu
D. C. Subramaniam

Ans f'--ﬁ
XNz2B
p N
Xac

Q.13 An assertion (A) and a reason (B) are given below,
Assertion (A): Tungsten filament is nsed for making light bulbs.
Reason (R): Tungsten has a high melting point.
Choose the correct option,

A Both A and 1 are true and B s the correet explanation of A

B. Both A and R are true, but R is not the correct explanation of A
C. Als true, but B is false

D. A is false, but B is true

Anz: 3 1 C
2a
N 3B
Xap

Queston 0 - 2055233809
Siatus : Answered
Chosen Opfion . 3

Q14 Esc key in a windows keyboard is not used to

A. Close a dialog-box
B. Run a selected command

Cuesiton 0 - 2055233742
Siatus : Answered
Chosen Option - 2

C. Cancel a command
D. Close a selected drop down list




Ans XLh
Kz2c
N3D
iE

u._ltﬁ R 41065 i il o be: dirwiches] somongy B Ll Sl b e prropeaiition: of 2573 © 44 © /2 nepeotreety. Tow mmch will L gst?

A Ha Ldwn
I B Kif
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0. R gm

Anz (1 D
Xz2E
W sc
XKaa

Question ID : 2055233757
Status - Answered
Chosen Cpfion : 2

Q.16 I Vil 0 o’ s condend an B il ea?, e s ke’ 5 e b e sl i e ln” s the e oa’ B e =T

A ba
M=
o

Ans. B 1 4
W 2o
Xac
X 4B

Cluestion 10 2055233781
Siatus : Answered
Chosen Option : 2

Q17 Ifa-b=>5and a* + b? =97, ab="

A. 48
B. 32
C. 36
D. 72
Ans. O 1 A
vzac
Nan
4D

Question 1D : 2065233767
Statuz - Not Attempted
Chosen Cplion . -

Q18 Tf CAR = 22 and BUS = 42, then TRAM =7

A 62

B. 52

C. 72

D. 42
Ans (1 4
Nzac
e
p N

Quesfion ID - 2056233778
Statuz - Answered
Chosen Option -3
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Coesion ID - 2055233764
Siatus : Answered
Choszen Option * 4




Anz 2 1
Kzas
K3A
vi0

Q.20 If 'W[.'IRK. = TU3S, ROCK — 3587 AND WARY - 1945, which digit stands for 17
Question 10 - 2055233779
A, Fither 9 ar 1

B. Fither 8 or 1 Status - Answered

. Either 2.or § Chosen Opfion ;4
. Fither 1 or 4

Ans. X 1B
Xic
Xaa
v 4D

Q.21 e :
Yerwada Jail is in Guestion ID - 2055233728

A anbm Eia.tus - Answered
Chosen Oplion: 2
B. Pune

C. Goa
D. Nagpur
Ans x o
) N
v &N
Xa4an

Q22 Which PB]I is not similar to the other three? Question ID : 2056233788

A. Bare : Dressed Sigtus : Answered
- . Ch 1
B. Baffled : Informed e Ul

C. Counterfeit : Fake

D. Degrade : Exalt
Ans. OC 1 [

Xza2e

ic

< aa

Q23 A gt e estzniud ecpessdian male by Lok Sublas far past of o Tleancial fer prodng votg is called
A, Cut motinn Cuesion 102056233723
B Apworistim Statuz - Not Attempted
© Proropation
0, etk 00 ool Chosen Option . —

Ans KTG
N A
vin
N 48

Question ID 12055233715
Sletus Answered




Ans

is the capital of Mizoram.
A. Shillong
B. Aizawl]
C. Kavaratti
D. Imphal

Chosen Option 14

Q.25

Anz

Statements follovwed by some conclosions sre given bebow,
Statemeniy:

1. We don't have the will o puish the guilty usiless he is weak s poor,
2, The rich and well-comnected get awey with every wrong doing.
Conclusions:

L Tha rich people are able to escapa punishment for wrong doing.
1. i wewill, jnstice will be same for all

Find which of the given conclisions logically follows Irem (e given stalements,

A, Only conclusion I follows
B. Cnly conclusion I foliows
. Both T gaad IT follow

D Medther Loor I follews

J-H.'_‘.
X 2aA
X 3D
X4E

Cestion 1D 2055233798
Siatus . NotAttempted
Chozen Opfion - -

Q26

Ans

India shares water border with countries.

A. One
B. Two
C. Three

D. Four
1.0

2.4

3C
4B

hote: For this question, dizcrepancy iz found in questonfanswer. So, Th
s question iz ignored for sll candidates.

Cuestion D ; 2056233713
Siaius CAnswered
Chozsen Oplion 1

Q.27

Ans

Find the LCM of 12, 16, 20 and 24.

A. 180
B. 220
C. 240
D. 260
XN 1D
& LA
N 3B

Question ID : 2056233785
Status : Answered
Chosen Cption - 4
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Question ID : 2056233708
Siatus  Answered
Chosen Opfion : 3

@.29 A box of 20 jiams was boughr for R 5,430 afier & dscount of 20%. Find the ceat of tach fem.

A, Be g
N. B 340
C. Fa 4
D. Fa. 450

Ans. C | E
5 2A
K3p
Wic

Coesion ID - 2055233766
Siatus : Answered
Chosen Option 1

Q30 Error : Blunder : : : Excellent

A, Acceptable
B. Excel

C. Unsatisfactory
D. Splendid
Ans xt A
Xzs
Xac
i

Question ID : 2065233787
Statuz - Answered
Chosen Cption - 4

431 In human body, vertebrae are part of 3

A. Intestine
B. Liver
C. Spinal cord
D. Brain
Ans. O 1 A

Xa2p

Nan

v4c

Question IC - 2055233739
Sistus ; Mot Attempied
Chosen Opfion - —-

Cluesfion ID 2056233785
Status  Answered
Chosen Cption 1




Ans:

Find the missing (?) in the series.
AB, CE,FL 2, 0T
A M
B. GK
C. HO
D. IN
¢1 O
No2a
Xac
Xas

@33

Ans

are twin prime numbers.
A.(4.9)
B. (2,3)
C. (4,6)
D. (3, 5)
X 1B
Xaec
X 3a
WD

Cuestion ID : 2055233751
Siatus - Answered
Chosen Option - 4
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Cuestion ID ; 2066233759
Siaius CAnswered
Chosen Oplion -3

Q35 (4x - TR =27

Ans

A 4x7 - 56x + 49
B. 4x2 - 14x +49
C. 16x2 + 14x + 49
D. 16x° - 56x + 49

X 1B

p -

Xac

v ipD

Question ID - 2055233769
Siatus : Not Attempted
Chosen Oplion - —-

Q.36

Qwestion 1D ;2055233756
Siafuz Answersd
Chozen Oplion :3




Fire : Burn : : Water : ?
A. River
B. H;O
C. Flood
D. Dam
Ang x1 O
XNzE
K aa
vic

@7 is not related to gases.

A. Boyle's Law
B. Joule’s Law
C. Avogadro’s Law
D. Charles's Law
Ans K i 0O
N2
Xae
o 4B

Cuestion ID : 2056233737
Status : Answered
Chosen Cption 1

Q.38 Thae e iy Vs off & cerinin s eSey van yem o 308 i bveneal compaussled sy o R 14 400, Fisd e
pRncgpnd M
A Ry, 5000
MR, $500
R, 00
DR, D0 500

Ans. B 1| &
vac
NaD
Kas

Cluesfion ID 2056233763
Siatus : Answered
Chosen Option 1

0.39 The smallest of the fractions among 5/8, 3/4, 13/16, 712 is .

AL 5B

B. 314

C. 13/18
. T2

D
Ams X |c
N2a
X3E
4o

Question ID : 2056233752
Status : Answered
Chosen Option: 2

Q.40 If angles M and N measure 60° and 30° respectively. (sinM) % (eotN) =2

A 12
B. ¥3/2
C. 32
oo

Ans K1D
K28

CQuestion 1D 2055233773
Ziatus  Not Attempted
Chosen Cplion ;-

10124
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041 The official journal of the Commirtee on Space Ressarch (COSPAR) =

A, Astropliysics and Space
B. Space Scence Beviews
. Advances in Space Research

Quesfion ID 20556233745
Statuz - Not Attempted
Chosen Cplion . -

D, Cosmic Research

Ans (¢ 4
Xz2B
p N
vic

0.42 The dizgenals of 2 squarss M & N are in the ratio 2:1, The ratio of their areas is
A12
B. 21
014

Question 0 2055233771
Siatus - Not Attempted
Chosen Oplion - —-

[FAEN

Ans 20 1
Xza
W D
X 4B

043 Which of the following is not a renewable source of energy?

A Solar
B. Wind

Cuestion ID ; 2056233722
Siaius CAnswered
Chosen Oplion -3

C. Ogean waves

Ans KTE‘;

Q44 A serial port can

A only transfer information from a hard drive.
B. only transfer information to a hard drive.

Question ID 20565233740
Status - Answered
Chosen Opfion ;1

C. transfer information both to and from a hard drive,
D. neither transfer information from nor to a hard drive.

Ans JIE—
N 2A
NKa3D
X 4B

QA5 Fred e greasest number whlch e 3Vl 390 and 315 lorves remasders 7 and § repectively,

A D
n
i |
D3z

Question I0 - 2055233754
Status : Answered
Chosen Cption 1

Ans «1_(:_
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Q.46 Find the odd one out in relation to using ATM and net-hanking facilities,

A. Don't share vour ATM card.
B. Don't share vour PIN.

C. Don't changes vour POV at regular intervals,
2 Dran't share vour bogin 1d and passwortd,

Ans XHJ
K 2A
v3ac
Kas

Question ID ; 2065233741
Status : Answered
Chosen Option -3
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Ans (1;...
Xzp
Xac
PR

Question I0 : 2055233810

Statuz - Not Attempted and Mark
ed For Review

Chosen Cplion - —

Q.48 The instrument used 1o examine a person's digestive tract is called

A Dscillescope

B. Microscope
C. Endoscope

D. Radiograph
Ans (1 4

p =R

X 3B

vic

Question ID 2065233736
Status - Answered
Chosen Cpfion : 4

Q.49 is not an example of refraction of light.

A. Twinkling effect of stars
B. Mirages
C. Lateral inversion
D. Bending of light while passing through a medinm
Anz 3C 1D
vac
XN 3A
N 4B

Coesion D - 2055233729
Siatus : Answered
Chosen Option 1
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Coesion ID - 2055233790
Siatus : Answered
Choszen Option : 2




Ans 18
2o
X aa
Xac

Q.51 Temcosof 15 ke of poansus and 4 kg of cesberna 15 T, 700 The comal 10 ki of casbews i equal o 27 ka ol
poandmui. Find e el of grousio pay g, :

o T 320
B. W 700
T Bx M
i Jgh

Ans O 1 4
XN2E
vio
Nac

Question IO 20565233748
Status - Mot Attempted
Chosen Cplion ;-

Q.52 U+ maeiss 'hroler aff, ' s Skt ol 7 meind Teller ol Bl =" st s o, S shick of S
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Ans f 1B
p 2
Hac
X 4D

Cuestion ID - 2065233792
Status - Answered
Chosen Opfion : 1

9.53 Tha averige weighl il 29 Desgs ju 99 g, Th oviskgh ol (e bag wiss iodinasd ne 08 et of 96, Fioe] The costed] maen
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Al E50E
B 81
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Question ID 2055233776
Siatus  Answered
Chosen Opfion : 3

Cuestion 10 2065233756
Siatus - Not Attempted
Chosen Opfion ; -

.55 Wich Tudinn Geeson fighier ke e fag bnown s Saptarishi o Salizar i Cemany u (5077

A, Modom Cams

A Madiibmn Grealle
€ Dndnbiiai Noorod
D Loskenaarya Tikik

Anz (1 p
MNazs

Question ID 2055233716
Status - Answered
Chosen Cpfion : 4
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Q.56 Which one is not the key objective of the Jan Aushadhi Campaign?
G Y ebjectly o AR Qusstion 1D 2065233710

A Make quality the hallmark of medicine availability. Status | Mot Attempted
B. Fedefine the unit cost of reatmenl per persomn. Chozen Opfion - —

. Develop a model which can be replicated only in India,
D. To be adopted by the Private Sector also,

Ans KTE'
zac
X 3D
o oan

Q57 s the Dedian coplain for 2006 10C Fomes's iaeld Coip Thwesly 20 orickist stch
A Bajendrrar Gayakwad Cuestion [0 2055233719

. Tharmiasngmest Kiur Situs . Not Attempted

€. Deoeptl Sharma -
ot Rf Chosen Opfion ; -

Ans x“j
Xoze
3D

K4

Comprehension:
Consider the following information and answer the questions based on it.

Out of 60 people in a colony. 10 speak only Bangali, 5 speak only Assamese, 10 speak both Hindi and Odia, 12 speak both
Marathi and Hindi, 13 speak English, Tamil and Marathi, 5 speak both Assamese and Hindi and the remaining speak both
Bengali and Hindi.

Subluestion No : 58

E;'E In all, how many people speak Hindi? Question ID : 2055233801

Sistuz Answered
A, 22
B. 27 Chiozen Opfion -3

.32
D. 45
Ans X 4 o
p -
X 1B
vic

Comprehension:
Consider the following information and answer the qm:itlnns based on it

Out of 60 people in a colony. 10 speak only Bengali. 5 speak only Assamese. 10 speak both Hindi and Odia, 12 speak both
Marathi and Hindi. 13 speak English, Tamil and Marathi. 5 speak both Assamese and Hindi and the remaining speak both
Bengall and Hindi.

SubQuestion No : 58

g Cestion 1D 2065233803
Sistus - Answered
Chosen Oplion 1




How many people speak more than one language? °

A 15
B. 45

C. 50
D. 55

Ans “15
F
Xa3c
X 4D

Comprehension:
Consider the following information and answer the guestions based on it.

Out of 60 people in a colony, 10 speak only Bengali, 5 speak only Assamese, 10 speak both Hindi and Odia, 12 speak both
Marathi and Hindi, 13 speak English, Tamil and Marathi, 5 speak both Assamese and Hindi and the remaining speak both
Bengali and Hindi.
SubQuestion No : 60

0.6 The ratio of people who speak Bengali to those who speak Marathi is

i] Cuesfion D 2055233802
A 15/32 Status -Answered
B. 112 Chosen Oplion © 4
C. 34
D, 3is
Ans ¢ 1.0
X8
N 3A
Xac
Q_E-I T o fiwmie. fheye mre go 0w and prescockos 17 e e of heads mre 80 aad S by of fiae ani 177, Men S nemiserof
o= Question IO 20565233763
s Ststus - Not Attempted
;i’: Chosen Oplion ;-
Ans x 1.
X2E
W:ao
X 4
(.52 A trom rems ot 80 Revagih B e firat 40 ket el e ot 40 ke o A0 ermpi. i) (he stversge speed.
A 62 kngh Question 1D : 2065233761
R £2 hangih Siatus - Mot Attempted
€. &% lanph :
o 7o kgt Chosgen Option © -
Ans x 1.A
Xz8
oD
Xec
Q.63
Question 1D : 20656233735
Status : Answered
Chosen Oplion -3




Objects float on water based on .

A. Newton’s third law of motion
B. Hooke’s law
C. Faraday's law
D. Archimedes principle
Ans O 4
N2
S 4A

o m

2

Comprehension:

E.F, G. Hand K visit a hospital on week days. Each one of them is a physician. surgeon. dentist. cardiologist.
nephrologist but in the random ordet. Each visits the hospital only one day in the week and attends to their profession
only. Consider the following information and answer questions based on it.

1. The physician visits office every Monday.

2. E is the cardiologist who comes neither on Tuesday nor Thursday.

3. K is asurgeon and G is not the physician.

4. The person who visits the office on Thursday is not a nephrologist.

5. H works on a Tuesday and K works on the following day.
SubQuestion No : 64

Qs i ist?
%? Who is the nephrologist? Question 1D : 2055233795

A. E = ;.-Ih::]h.ls ::ns_wered
oEEn o :
B. F

Al
Ulm

r
_'Ln.

XS
o o

Comprehension:

E, F, G, H and K visit a hospital on week days. Each one of them is a physician, surgeon, dentist, cardiologist,
nephrologist but in the random order. Each visits the hospital enly one day in the week and attends to their profession
only. Consider the following information and answer questions based on it.

1, The physician visits office every Monday.

2. E is the cardiologist who comes neither on Tuesday nor Thursday.

3. K is a surgeon and G is not the physician.

4, The person who visits the office on Thursday is not a nephrologist.

5. H works on a Tuesday and K works on the following day.
SubQuestion No : 65

45 Who is the physician?

Quesiion 1D 2055233796
AE Siatuz -Answered
Chosen Oplion © 4

B. F

C.G
D.H




Ans of 1 B
X 2a
N 3D
Xac

Comprehension:

E. F, G. H and K visit a hospital on week days. Each one of them is a physician. surgeon, dentist, cardiologist.
nephrologist but in the random order. Each visits the hospital only one day in the week and attends to their profession

only. Consider the following information and answer questions based on it.

. The physician visits office every Monday.

. E is the cardiologist who comes neither on Tuesday nor Thursday.
. K is a surgeon and (G is not the physician.

. The person who visits the office on Thursday is not a nephrologist.
. Hworks on a Tuesday and K works on the following day.
SubQuestion No : 66

Ly B Lo o=

“&5 The cardiologist visits the office on
A, Tuesday

Cussfion D 2065233794
Siatuz -Answered
Chosen Oplion 2

B. Wednesday

C. Thursday
D. Friday

Ans B G
X 2A
W 3o
X8
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Question IO 2065233758
Statuz ; Mot Attempted
Chosen Opfion - —

Anz x'||:|
e
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A Stvmm
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Question ID 2065233718
Status - Answered
Chosen Cpiicn . 2

Ans jrc,
Xz2e
p R
p WY

Cueston 0 ;2055233780
Siatus . Answered
Chosen Option -1

1724



BROWN : BNORW :: SOUND :?

A. SNOUD
B. OSUDN
C. SUDNO
D. DNOSU

Ans. B 1 4
X 2c
Xas
v i0

Q.70 1% known as a disease mosthy coused by oceupational health hazards,

A Syphilis

B, Chrhosis

C, Silicosis

T, Parkinson's.
Ans (1 g

Wac

K 3A

540

Question 1D : 2065233734
Statuz - Not Attempted
Chosen Cplion . -

0.71 The speed of light in vacuun is estinated as migters / secoid.
A, 300108
E. 3.10x 108

€. 512x% 108
. 3.15% 108

Ans x-r[;
Y
Xas
P N

Question D - 2055233730
Siatus : Not Attempted
Chosen Oplion - —-

Q72 Find the missing (?) in the series.
3,5,9,11, 2,33, 65........

A 23
B. 21
C. 17
13:15
Ans. of 1D
Nan
K 2a
Nac

Question IC - 2055233784
Sistus ; Mot Attempied
Chosen Opfion - -

Q73 (0.2 % 0. 2 X 0.2) (0.06 % 0.06 x 0.06) +(0.12 X 0.12 x 0.12) =7

A 0.008
B. 0.001
C. 0.002
D, 0.006

Cuestion ID : 2056233753
Status : Answered
Chosen Option -3




Ans ;{'1 ]
Kz2a
o :E
Xac

Q74 Salarjung Museum is located in

A. Kolkata

B. Ahmadabad

C. Delhi

D. Hyderabad
Ans KTE

Xz2B

vao

X 4n

Question 10
Status
Chosen Cpfion

(2055233T2T
'.An_awemd
i

&TE Py oo arires: Prganks Chioprs wim fhe Pavoartle Acoses: owand ol the Pesple s Clasice swesis 2015, 17 ber fesling
mlz in e Adteices TV o esin

A Seom mid Les
A The Middic

C. Quemitizs

Do hlisireases

Anz Kt-ﬁ‘-
MNzo
KaE
ic

Quiestion IO
Siatus

Chosen Opfion ;

2055233728
Mot Attempted

Q.76 Find the range of the data 9. 5,9.3. 4, 7, 8, 4. 8, 0. 5, 0.
Al
B.5
C.6
D.4
Ans (1 g
vac
2 3A
X 4D

Question 10
Status

Chosen Cption :

;2055233775
- Not Attempted

Q77 Name the first civilian president of Myanmar.

A. Htin Kyaw
B. Myint Swe
C. Henry Van Thio
D. Thein Sein
Ans fhe.,
Xaze
X 3D
X 4E

Cuesion 0
Status
Chosen Option

- 2055233725
- Anawered
|




ok is used in yellow lamp street lights.
A. Neon
B. Nitrogen
C. Phosphorous
D. Sodium

Ans XTE'
2.8

y TR
vin

Question ID 205623373
Status - Answered
Chosen Cpfion : 4

A7% Curd contains mainly acid.

A. Benzoic

B. Fumaric

C. Lactic

D. Malic
Ans xih

Xzo

v3ac

X as

Question ID 2055233722
Sistus ; Mot Attempied
Chosen Opfion - —-

G.ﬁu Thie g mi price of kg el Wietal ad 19 Ly o beill voere ol s TOaisl Ms 00 ped kg pesperiively . Om seling, b gaiiest 109
o whial sl 206 a0 miges Whal wis s sei] sels pulss?

L

B Hn 1358

£ R LD

R TR
Anz 1 D
2.C
3.B
44

Mote: For this queston, discrepancy is found in questionfanswer. So, Th
15 question iz ignored for all candidates.

Question 1D : 20656233765
Statuz - Not Attempted
Chosen Cplion . -

Q81 The official language of Goa is :

A. English

B. Portuguese

C. Konkani

D, Marathi
Ans x 1o

Xz2p

p R

vic

Coesion D 2055233714
Siatus : Answered
Chosen Option 1

Q’ﬂi B eyl i ponsy [or | e ol gt mtogile ol TVRL e o piend imia e i s f Y vl areminl el 1
e 130 Tl the prissipal asoosi.

A B dgon
8, Ry S0
. Ra. &b
D Ra. TEuo

Ans «'1 C

Cuestion D ; 2066233762
Status - Not Attempted
Chosen Cplion - —

20024



Nao
Xas
T

u‘.ﬁ:i i i ) F & cinela b metaanil by u' o e A6 i asinthed ol sl b wiekcing
maraed”

AR
8 n
C amr

:;ED
Xac
3B
p WY

i cinde &

Question 1D : 2065233770
Statuz - Not Attempted
Chosen Cplion . -

Q.54

Ans

1SS stands for

A. Intenational Space Station
B. International Space System
C. Indian space Studies
D. Inter-Space Spectroscopy
N 1B
Xoa2p
e
Mac

Cestion [0 . 20565233744
Satus . Answersd
Chozen Cpfion ' 3

Ans

is used in periscope.

A. Plane mirror

B. Prism

C. Concave lens

D. Convex lens

X 1B

Xzo

KAE

o 4n

Cluesfion ID 2056233747
Siatus : Answered
Chosen Option: 2

Q.66

Ans

Himirwmrwl fallowed by sems conchsi ses mre geeen bl
Bl

The sy femm Tebeses Ul f plane debois secevernd fo S0, o Bsrmodspue win bty Ty 10 by Som M-

Ninbmpian aivcraft which dissppesyed aflet s m X4
(A Ha T

I Thedebris firmind tear Mrmibipe definichy Uz kunped in MITAT aireeall.
IL  The sessich b b intalan oot the findings
Pt wiich af (e g cosichuinng Bagetally Tl o the ghvics saeme iy,

A Ol ol i § dedlows
B, Crady gl 8 falloes
- Wik [ wrdl 2§ Foble

B bt | i 0 Wil

5 LA
p =N
Nac
vino

Question 1D : 20656233797
Statuz - Not Attempted
Chosen Cplion . -

21724



.97 Paarrmn the jumblad lettars to e o i wiond ssd O select e oue wlich is St

A OLERN
. PRATP
C. DEREAN
0. OTTORA

X 1A
2o
X 3B
Na4ac

Question ID - 2055233739
Situs . Not Attempied
Chosen Opfion ; -

Q.88 Which one of the following names is associated with golf?

A. Gurmeet Singh
B. H.S. Prannoy

C. 8.5.P. Chawrasia
D. Chetan Anand

X1D
e
XA
N4EB

Cuestion 10 2065333720
Status - Not Attempted
Chosen Cplion ;-

Ans

nvgg. A s slalfi Waliimg al o il S Koy a delimos of ATRR. Hib ineid) sjedi o L s ol iy
NeezEilth dstamee, ke redues b spesd by 2 gl AL witan e w83 b comgilets kiveali?

AL s
A LLEpm
LM pm
0, 13 pai

X 1.8
N 2A
W iE
X4ac

Cuestion 10 2065233760
Siatus - Not Attempted
Chosen Cplion ;-

1% Rajaji National Park is in ;

A, Tamil Nadu
B. Uttarakhand
C. Karnataka
D. Kerala

e

Xac

Xoaa

Xap

Dx_sesﬁqn D 2055233721
Siatus . Not Attempted
Chosen Opfion ; -

2424
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